
www.pbteen.com 

 

Tune-In Bed Frame - Queen  
 
 
Pre-Assembly: 
 
• Please read all instructions before beginning assembly. 
• Save all packing materials until assembly is complete to avoid accidentally discarding smaller parts or 

hardware. 
• Two-adult assembly is recommended. 
 
Parts Included:  
 
A - Headboard – 1 pc  B - Footboard – 1 pc 

  
C - Side Rails – 2 pcs  D - Center Support Slat – 1 pc  

  
E - Slat Roll – 1 pc  (15 pcs of Slat)  

 

 

 
Hardwares Included: 
 
F- Wood Screw – 32 pcs (8x30mm) 

 
 
 
Tools Required: 
Phillips Head Screwdriver (not included) 
 
Assembly Instructions: 
 
Step 1: Attach the two Side Rails (C) to the Headboard (A) and Footboard (B) by inserting the teeth at two 

ends of the Side Rails (C) into the grooves on the Headboard (A) and Footboard (B). Press down 
firmly to secure. See Figure 1. 

 
Step 2: Place the Center Support Rail (D) onto the wood block located at middle of Headboard (A) and 

Footboard (B). Secure with two Wood Screws (F) by a Phillips Head Screwdriver. See Figure 2. 
 
 



www.pbteen.com 

 
Figure 1 

 
 
 
 
 
 
 
 
 
 
 
 
 
Figure 3 
 

 
 
Step 3: Lay out the Slat Roll (E) on the inner edges of the two Side Rails (C). Screw in each Slat of the Slat 

Roll (D) to the Side Rails (C) with the Wood Screws (F) by using a Phillips Head Screwdriver. See 
Figure 3.  

 
Care Instructions: 
• Dust often with a soft, dry cloth. 
• To clean, slightly moisten cloth with water (a damp cloth will hold dust and prevent scratching; dry 

thoroughly). 

B 

C 

C 

A 

E 

F 

Figure 2 

 

F 
D 

F 



www.pbteen.com 

 

 
Tune-In Headboard – Queen 
 
Pre-assembly 

• Please read all instructions before beginning assembly. 
• Please Note: If you’ve purchased the complete Tune-In Bed, please refer to the Assembly 

Instructions packaged with the bed frame.     
                     

Parts and Hardware Included: 
A – Headboard – 1 pc 

 

B - AC Adapter – 1 pc 

 

C - Audio Cord (6ft long) – 1 pc

 

 
D – Allen Bolt – 6 pcs (DIA. 1/4” x 4” L)       E – Nut – 6 pcs (DIA. 1/3” x 1/4”)                                  

                                                      

                                        
F – Spring Washer – 6 pcs (DIA. 2/5” x 1/4”)     G – Flat Washer – 6 pcs (DIA. 3/4” x 1/4”) 

                                                                        
 
Tools Included: 

H – 1/6” Allen Key – 1 pc (2” L)            I – 1/4” Wrench – 1 pc (2-1/3” L)     

                                                                      
Needed for Assembly: 
Pre-assembled bed frame (not included) 
 
 



www.pbteen.com 

Assembly Instructions (with Wooden Bed Frame): 
1. Assemble wooden bed frame per the manufacturer’s instructions. Connect the Headboard (A) & bed 

frame by joining the hooks of the bed frame’s side rails with the female connector hooks of the 
Headboard (A). Place the bed frame’s middle support rail onto the “U”-shaped wooden support. 

 

  
 
Assembly Instructions (with Metal Bed Frame): 
1. Assemble metal bed frame per manufacturer’s instructions. 
2. Align the pre-drilled holes of bed frame to the pre-drilled holes of Headboard (A).  
3. Insert Allen Bolts (D) through a Spring Washer (F) and a Flat Washer (G) from the backside of Headboard 

(A) and into the pre-drilled holes of the bed frame, as shown.  
4. Once the Allen Bolt (D) exits the pre-drilled hole on the other side of the bed frame, attach Nut (E) to the 

end of the Allen Bolt (D) at the front side, using a Wrench (I). Tighten the opposite side with Allen Key (H).  
5. Repeat for the remaining connection points to secure the bed frame. Periodically tighten all connections. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Hook Female Connector 



www.pbteen.com 

Operating Instructions: 
1.  Make sure the power is turned off. (Toggle the Off button completely counter-clockwise). 
2. Plug the small end of the enclosed AC Adapter (B) into the “PWR” port on the control panel of the 

Headboard (A). 
3. Plug one end of Audio Cord (C) into the “IN” port on the control panel of Headboard (A), and the other end 

into the portable player headphone jack output. 
4. Turn the speaker on by toggling the “Off” button clockwise and ensure volume control is set at low level. 
5. Play music using the portable player controls and adjust the volume either by using the control panel of 

the Speaker Headboard (A) or portable player’s volume control. 
 
 
Care Instructions: 
1. Spot clean with damp cloth. 
2. Cleaning agents should not be used. 
3. Electrical shock hazard may cause death or serious injury, Do not operate Speaker using AC adapter 

near water. 
4. AC adapter is meant for indoor use only. Always plug adapter into Speaker before plugging into outlet. 

 
 


